


ffi' 1.1. �a.:tft.tRsia 'S� � �a.aq.., qif qf<chWt 'clftftn(: 
(i) H 2 0 (ii) CO2 (iii) CH 4

�: (i) H2O cnr �� =2xHcnr��+ ocnr��
=2x lamu + 16amu = 18amu 

ant: H20'chT�j(&.1qM -18amu 
(ii) CO2 cfiT aTifuqq; � = C cnf � � + 2x O cfil.� �

= 12amu + 2x l 6amu 
=44amu 

ant: CO2 W�3(6£iqM-44amu 
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(ii) C + O2 ➔ CO2 
[1 mol] [cfr!] 1 mol 

32 g 02 �qi'{'fflt=44 g CO2 
1 g 02 � � = 

44xl6g=22 g
32 

16 g 02 � � = 44 g = 22g
32 

am: '5ITta aa,rsf.,:s,34icft41$s ctl' �1'1"51T=44g 
� 1.5. t1',f&qq � (CH 3 COON a) cliT 500 mL, 0.375 lffffl'� ftlMi.l¾ lAR-Sft.lt{a 

flmR j(oQq.., cfft' �lci(,i.laidl 111ft? t11f1&qq � c6T � j(oQqM 82.0245 gmof1 t1
�: ••• CH3COONa cnT 1000 mL fcR.rlA =82.0245 g

CH COONa cnT 500 mL fcR.rlA = 820245 x 500 3 1000 
g 

CH 3 COON a cnT 500 mL, 0.375 M fcR.rlA = 820245 x 500x 0.375 g
1000 

=15.379 g 
= 15.38 g 

am: �j(oQqM-15.38g 
� 1.6. � ¾1$1\ai �-q;��cliTlfu.r'Rftr��1fim'cfii qf<aaM¾ �, �� 

J.oQq.., 1lfimw 69% 61' a:ftlftmqrr� 1.41 gmL�1 t1
�: ·: HNO3 cnJ � JJ@ffif =69% 

69g HNO 3 = I 00 g fcR.rlA -q: t1 

l 00 g fcR.rlA cnT aw«R = �
� 

fcR.rlA cnT aw«R = l OO mL =· 70.92 mL
141 

HNO3 mL cnT � � 63 g mof1 

��= lmol 
am: 70.92 mL aw«A cnJ fcR.rlA = 1 mol HNO 3 

1 I 000 mL aw«A cnT fcR.rlA = --x 1000 mol/L
70.92 

= 14.1 mol/L 
am: ��= 14.lmol/L 
�1.7. 100g��(CuS04)ifcm1;n'cliliR111tti'���f? 
�: ••• CuSO4 cnT �� =159.Sg

159.5 g CuSO 4 = 63.5 g Cu 

100 g CuSO 4 = 615 x 100g
159.5 

=39.8g 
am: 'cfiNtllTttr��lfclml' = 39.8 g 
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